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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Section 'A' contains 8 (eight) very short answer type 
questions (one word, one sentence and definition type).  
Each question carries 2 (two) marks and maximum word 
limit for each answer will be 30 words. Maximum mrks of 
this section will be 16 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "A' ‘| Hw$b 8 (AmR>) A{V bKwCÎmar¶ àíZ hm|Jo (EH$ eãX, 
EH$ dm³¶ Am¡a n[a^mfmË‘H$ àH$ma Ho$)& g^r àíZ A{Zdm¶© h¢& ha 
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àíZ 2 (Xmo) A§H$m| H$m hmoJm Am¡a àË¶oH$ CÎma H$s A{YH$V‘ gr‘m 30 
eãX hmoJr& Bg IÊS> H$m A{YH$V‘ A§H$ 16 hmoJm&

1)	 (i)	 Who was Garibaldi?
		  J°ar~mëS>r H$m¡Z Wm?

	 (ii)	 Explain Balken problem.
		  ~mëH$Z g‘ñ¶m H$mo ~VmBE&

	 (iii)	 Where and when boxer Rebellion occured?
		  H$hm± Am¡a H$~ ~m³ga {dÐmoh hþAm?

	 (iv)	 What do you mean by "Young Italy".
		  ""¶§J BQ>br'' Ho$ ~mao ‘| Amn ³¶m OmZVo h¢?

	 (v)	 Define Imperialism.
		  gm‘«mÁ¶dmX H$mo n[a^m{fV H$s{OE&

	 (vi)	 What was the immediate cause of the first world war?
		  àW‘ {díd ¶wÕ Ho$ àma§^ hmoZo H$m VmËH$m{bH$ H$maU ³¶m Wm?

	 (vii)	Who was Lenin?
		  bo{ZZ H$m¡Z Wm?

	 (viii)	Define Triple Alliance.
		  {ÌJwQ> g§{Y Ho$ ~mao ‘| ~VmBE&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Section 'B' contains 8 (eight) very short answer type 
questions. Examinee will have to answer any 4 (four) 
questions. Each question will be of 8 (eight) marks and 
maximum word limit for each answer is 200 words maximum 
marks of this section will be 32 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~' ‘| 8 (AmR>) bKwCÎmar¶ àíZ hm|Jo& narjmWu H$mo H$moB©
4 (Mma) àíZ H$aZo hm|Jo& ha àíZ 8 (AmR>) A§H$m| H$m hmoJm Am¡a
àË¶oH$ CÎma H$s  A{YH$V‘ gr‘m 200 eãX hmoJr& Bg IÊS> H$m 
A{YH$V‘ A§H$ 32 hmoJm&

2)	 Why did industrial Revolution start from England?

	 Am¡Úmo{JH$ H«$m§{V B½b¢S> go àma§^ ³¶m| hþB©?

3)	 Discuss the causes of Crimean war?

	 H«$s{‘¶m ¶wÕ Ho$ H$maU ~VmBE&

4)	 Who was called "honest broker" of the Berlin Congress and 

why?

	 ~{b©Z H$m±J«og H$m ""B©‘mZXma Xbmb'' {H$go H$hm J¶m Am¡a ³¶m|?

5)	 Write short note on opium war in China.

	 MrZ ‘| A’$s‘ ¶wÕ na EH$ g§{já {Q>ßnUr {b{IE&

6)	 Describe the contribution of Kamal Pasha.

	 H$‘mb nmem H$m ¶moJXmZ ~VmBE&

7)	 Evaluate the effects of Russian Revolution of 1917.

	 1971 H$s ê$gr H«$m§{V Ho$ n[aUm‘m| H$m ‘yë¶m§H$Z H$s{OE& 

8)	 Describe the conflict between Greece and Turkey.

	 J«rg Am¡a Q>H$s© Ho$ ‘Ü¶ {ddmX H$s {ddoMZm H$s{OE&

9)	 Describe Lenin's contribution in the history of Russia.

	 ê$g Ho$ B{Vhmg ‘| bo{ZZ Ho$ ¶moJXmZ H$s {ddoMZm H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions out of 4. Each question have 
internal choice having 16 marks each and maximum word 
limit for each answer 500 words.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	4 (Mma) àíZm| ‘| go H$moB© 2 (Xmo) àíZ H$s{O¶o& àË¶oH$ àíZ ‘| 
Am§V[aH$ M¶Z H$s gw{dYm h¡& àË¶oH$ àíZ H$m CÎma 500 eãXm| go 
A{YH$ Zht hmoZm Mm{h¶o&

10)	 Write an essay on new imperialism.

	 Zd gm‘«mÁ¶dmX na EH$ boI {b{IE&

11)	 Write an essay on Russian Revolution of 1917.

	 1917 H$s ê$g H$s H«$m§{V na EH$ boI {b{IE&

12)	 Describe the causes and effects of First world war.

	 àW‘ {díd ¶wÕ Ho$ H$maUm| Ed§ n[aUm‘m| H$s {ddoMZm H$s{OE&

13)	 Describe the social ideology in Europe.

	 ¶wamon ‘| gm‘m{OH$ {dMmaYmam H$mo ~VmBE&


